CLINICAL SCENARIO A 28-year-old man is admitted to the resuscitation room, having fallen 3 m. He had a brief period of loss of consciousness at the scene, but his Glasgow coma scale (GCS) score was 15 on arrival of the ambulance. During the primary transfer to hospital, he became increasingly confused. On examination, he is immobilised on a long spinal board with cervical spine collar, blocks and tape. He is maintaining and protecting his airway; he is breathing high-flow oxygen from a mask with a reservoir bag, his respiratory rate is 24 breaths/ min, with no obvious chest injury, and pulse 98 beats/min. His blood pressure is 130/85 mm Hg, oxygen saturation is 98%. His GCS score is 13 (E3, M6 and V4), pupils are equal and reactive and there is no focal neurological abnormality on examination. He has a full-thickness laceration in the right temporal scalp and tenderness in the left upper quadrant of his abdomen. He has no obvious limb injuries. x Rays of his chest and pelvis are normal. In view of the mechanism of injury and neurological findings, the decision is made to carry out a computed tomographic scan of the patient’s head, cervical spine and abdomen……………………………………………………………………………

ESCENARIO CLÍNICO Un hombre de 28 años ingresa en la sala de reanimación después de haber caído 3 m. Tuvo un breve período de pérdida de conciencia en la escena, pero su puntaje de escala de coma de Glasgow (GCS) fue 15 cuando llegó la ambulancia. Durante la transferencia primaria al hospital, se volvió cada vez más confundido. En el examen, se inmoviliza en una larga placa espinal con cuello, bloques y cinta espinal cervical. Él está manteniendo y protegiendo su vía aérea; está respirando oxígeno de alto flujo de una máscara con una bolsa reservorio, su frecuencia respiratoria es de 24 respiraciones / minuto, sin una lesión obvia en el tórax, y un pulso de 98 latidos / min. Su presión arterial es 130/85 mm Hg, la saturación de oxígeno es 98%. Su puntuación GCS es 13 (E3, M6 y V4), las pupilas son iguales y reactivas y no hay anomalías neurológicas focales en el examen. Tiene una laceración de espesor total en el cuero cabelludo temporal derecho y sensibilidad en el cuadrante superior izquierdo de su abdomen. Él no tiene lesiones obvias en las extremidades. x Rayos de su pecho y pelvis son normales. En vista del mecanismo de lesión y los hallazgos neurológicos, se toma la decisión de realizar una tomografía computarizada de la cabeza del paciente, columna cervical y abdomen.

